
BER10−7N

BER10−1A

wavelength λ /nm contrast C=100:1

R(λ) reflection factor; Ostwald colour: 
device green G2d    λd=520 nm
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BER10−2A

wavelength λ /nm contrast C=100:1

R(λ) reflection factor; Ostwald colour: 
device magenta-red M2d    λd=520c nm
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BER10−3A

wavelength λ /nm contrast C=100:1

R(λ) reflection factor; Ostwald colour: 
device green G2d    λd=520 nm

400 500 600 700
0,0

0,25

0,50

0,75

1,00

λ1=
470

λ2=
570

BER10−4A

wavelength λ /nm contrast C=100:1

R(λ) reflection factor; Ostwald colour: 
device magenta-red M2d    λd=520c nm
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BER10−5A

wavelength λ /nm contrast C=100:1

R(λ) reflection factor; Ostwald colour: 
device green G2d    λd=525? nm
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BER10−6A

wavelength λ /nm contrast C=100:1

R(λ) reflection factor; Ostwald colour: 
device magenta-red M2d    λd=525c? nm
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BER10−7A

wavelength λ /nm contrast C=100:1

R(λ) reflection factor; Ostwald colour: 
device green G2d    λd=515? nm
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BER10−8A

wavelength λ /nm contrast C=100:1

R(λ) reflection factor; Ostwald colour: 
device magenta-red M2d    λd=515c? nm
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